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Precalculus 

6-02 Law of Cosines 

• When you _____________________use _____________________ 

• _____________________ 

Law of Cosines 

𝑎2 = 𝑏2 + 𝑐2 − 2𝑏𝑐 cos𝐴 

𝑏2 = 𝑎2 + 𝑐2 − 2𝑎𝑐 cos 𝐵 

𝑐2 = 𝑎2 + 𝑏2 − 2𝑎𝑏 cos𝐶 

 

 

Solve ΔABC where a = 20, b = 18, c = 13 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Area of a Triangle given all Sides 

_____________________ Formula 

𝐴𝑟𝑒𝑎 = √𝑠(𝑠 − 𝑎)(𝑠 − 𝑏)(𝑠 − 𝑐) 

• Where 𝑠 =
𝑎+𝑏+𝑐

2
 

Find the area of a triangle with sides 14 cm, 21 cm, 27 cm 

 

 

 

 

 

 

 

 

 

 

 

 

  

  

 


